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Answer all questions in the spaces provided.

 1 Use Brexit from the Preliminary Material.

 1 (a) The UK population was 65 million in June 2016

What percentage of the population, correct to one decimal place, were eligible voters 
for the EU membership referendum?

 Circle your answer.
[1 mark]

51.7                    71.5                    71.6                    72.3

 1 (b) One improvement that could be made to each graph in the Preliminary Material would 
be to label the axes.

Suggest two other improvements that could be made to each graph.
[4 marks]

Graph 1: EU immigration in the UK

 Improvement 1

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Improvement 2

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________



3

Do not write 
outside the 

box

(03)
G/Jun18/1350/2B

Turn over 

 Graph 2: Brexit’s impact on the pound

Improvement 1

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Improvement 2

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 1 (c) For 2015, the UK paid the EU £14.6 billion.

During the campaign, Vote Leave claimed that the EU costs the UK over £350 million 
every week.

Is Vote Leave’s claim justifi ed?

You must show your working.
[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Question 1 continues on the next page
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 1 (d) Many people made comments on social media about the referendum.

 Here are three of the comments.

Nearly 20% of eligible voters didn’t vote in the 
EU referendum.

          Tim

The ratio of Remain votes to Leave votes
is close to 12 : 13

                         Kelly

If 2 million of those who didn’t vote at all had voted
to remain in the EU, Remain would have

won with over 51% of the votes.

             Larissa

 Using the table on page 2 of the Preliminary Material, check the validity of these 
comments.

 You must show your calculations.
[7 marks]

Tim’s comment

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________
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 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Kelly’s comment

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Larissa’s comment

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

____
14
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 2 Maria is planning to move to Spain.  She wants to buy a house which, including all 
associated fees, will cost €327 500

 In May 2014 she opened a Spanish bank account with a deposit of £17 000
The account pays no interest.

 The current exchange rate is £1 = €1.08

 This is a decrease of 10% from the May 2014 rate.

 Maria owns a house in England which she bought for £253 000.  She has no mortgage. 
The house is now worth 12.5% more than she paid for it.

 Advise Maria on whether the money she gets from selling her house in England, 
together with the money in her Spanish bank account, will be enough to buy the house 
in Spain.

 You must show your working.
[6 marks]

  _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

____
6
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 3 A company has two offices, Office A and Office B, at different locations.

 The company carries out a survey into the main ways of travelling to work
by employees at both offices.

 The results are shown in the table below.

Main way of travelling
to work

Number of employees

Office A Office B

Bus 34 38

Train 57 50

Car 80 31

Bicycle 22 36

Walking 13 49

Other 25 11

 3 (a) An employee is chosen at random from all employees who travel to work by bus 
or train.

 Calculate the probability that the employee is from Office A.
[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Answer _____________________________________________
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 3 (b) One of the offices is in the centre of a town.  The other office is in a business park, 
10 miles outside the town.

 State which office, A or B, is more likely to be in the centre of the town.
Give a reason for your answer.

[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

____
4
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 4 Hugo asks 40 students at his school if they have at home:

  a smart TV
  a dishwasher.

 He uses their answers to construct the tree diagram below.

smart TV

no smart TV

dishwasher

no dishwasher
1
4

3
4

dishwasher

no dishwasher
1
4

3
4

2
5

3
5

 4 (a) Hugo claims that, for these students, “having a smart TV” and “having a dishwasher” 
are independent.

 Explain why Hugo’s claim is correct.
[1 mark]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________
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 4 (b) In Hugo’s school there are 1220 students.

 4 (b) (i) Estimate the number of students in Hugo’s school who have neither a smart TV nor a 
dishwasher at home.

[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Answer _______________________________________________

 4 (b) (ii) State one assumption you made in question 4 (b) (i).
[1 mark]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

____
4
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 5 Sandy is a builder.  She is planning to renovate a conservatory for a customer.
Some of the activities required for the project are listed below.

 A Discuss plans with customer

 B Remove old fittings

 C Plaster walls

 D Order and collect doors and windows

 E Order and collect floorboards

 F Fit doors and windows 

 G Lay floorboards

 H Paint walls, doors and windows

 Sandy draws the Gantt diagram below showing these activities.

0

A

B

C

D

E

F

G

H

5 10 15 20 25
Time (days)
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 5 (a) (i) Complete the activity network to show the activities represented in the Gantt diagram.
[4 marks]

B

17

C

3

A

2 20

2

 5 (a) (ii) State the critical path.
[1 mark]

 Answer _______________________________________________

 5 (a) (iii) What is the latest possible start time for activity E?

 Circle your answer.
[1 mark]

2 days                    4 days                    18 days                    20 days

 5 (a) (iv) Sandy considers doing all the work herself.
 She can do activities D and E at the same time as other activities.

 How many days in total would it take her to complete the project?
[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 Answer _______________________________________________

Question 5 continues on the next page
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 The Gantt diagram from page 12 is shown below to help you.

0

A

B

C

D

E

F

G

H

5 10 15 20 25
Time (days)
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 5 (b) Sandy decides not to do all the work herself.  Before the start of the project, Sandy 
finds out that activity D will take only 14 days.

 5 (b) (i) Complete the Gantt diagram below so that it includes this new information and any 
other changes which occur as a result.

[5 marks]

0

A

B

C

D

E

F

G

H

5 10 15 20 25
Time (days)

 5 (b) (ii) State the new float time for activity E.
[1 mark]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 Answer _______________________________________________ days

____
14
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 6 Statisticians collect data on the number of points won by tennis players when they are 
serving.

 If the player gets their first serve in, they have a chance to win the point on their 
first serve.

 If the player does not get their first serve in, they get a second serve and have a 
chance to win the point on that serve.

 A statistician uses data about the tennis player Venus Williams to work out the 
probabilities in the table.

Event Probability

Venus gets her first serve in 0.68

Venus wins the point if she gets her first serve in 0.80

Venus wins the point if she does not get her first serve in 0.49

 6 (a) Work out the probability of Venus Williams winning the point when she is serving.
[3 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Answer _______________________________________________

 6 (b) For a particular tournament, a tennis racket manufacturer offers Venus Williams a 
bonus payment of 50 y dollars, where y% is the percentage of points that she wins 
when she is serving.

 Estimate the expected bonus payment that Venus Williams receives.
[1 mark]

 _____________________________________________________________________________________

Answer _______________________________________________ dollars
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 6 (c) The statistician works out the following probabilities for another tennis player, 
Johanna Konta, when she is serving.

Event Probability

Johanna gets her first serve in 0.66

Johanna wins the point if she gets her first serve in 0.75

Johanna wins the point if she does not get her first serve in x

 The probability of Johanna Konta winning the point when she is serving is 0.69 
Calculate the value of x , giving your answer to two significant figures.

[4 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Answer _______________________________________________

____
8
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 7 A building company hires a crane to complete a large construction project.

 The hire charge is £3000 per week when booked in advance.
If the crane is needed for longer than booked, the hire charge for each extra week
is £9000

 You are working for the company as the project manager.

 You expect that the construction project will need a crane for 10 weeks.
You estimate that there is a 40% chance that the project will be delayed and the crane 
will be needed for longer than 10 weeks.
You estimate that, if the project is delayed, there is a 90% chance that the crane will be 
needed for 1 extra week and a 10% chance that the crane will be needed for
2 extra weeks.

 You offer the building company three options:

   Option A
Hire the crane for 10 weeks.
If the project is delayed, pay the increased hire charge.

   Option B
Hire the crane for 11 weeks.
If the project is further delayed, pay the increased hire charge.

   Option C
Hire the crane for 12 weeks.

 7 (a) Advise the building company on which of the three options they should choose.
Base your advice on the expected cost of each option.

[8 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________
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 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

Question 7 continues on the next page
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 7 (b) The project will not be delayed if an extra full-time worker is employed for 5 weeks.
It would cost £640 per week to employ the additional worker.

 Explain whether you would recommend that the building company should employ the 
additional worker.
You must justify your recommendation.

[2 marks]

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

 _____________________________________________________________________________________

____
10

END  OF  QUESTIONS

Copyright information 

For confidentiality purposes, from the November 2015 examination series, acknowledgements of third party copyright material will be published in a
separate booklet rather than including them on the examination paper or support materials. This booklet is published after each examination series and is
available for free download from www.aqa.org.uk after the live examination series.

Permission to reproduce all copyright material has been applied for. In some cases, efforts to contact copyright-holders may have been unsuccessful
and AQA will be happy to rectify any omissions of acknowledgements. If you have any queries please contact the Copyright Team, AQA, Stag Hill House, 
Guildford, GU2 7XJ.

Copyright © 2018 AQA and its licensors. All rights reserved.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages false
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage false
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /SegoePrint
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (Coated FOGRA39 \050ISO 12647-2:2004\051)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<


    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>



    /HUN <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 6.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200036002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 6.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>


    /SKY <>

    /SUO <>
    /SVE <>
    /TUR <>

    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (Coated FOGRA39 \(ISO 12647-2:2004\))
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements true
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice




